U3L2I2 Homework - CMIC 1										         			DUE:  Wednesday, August 28
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‘When peaple shop for cars or trucks, they usually look closely at data
on fuel economy. The data are given as miles per gallon in city and in
highway driving. Let ¢ stand for miles per gallon in city driving and

I stand for miles per gallon in highway driving. Data from tests of

20 of the most popular American cars and trucks show that the
function h = 1.4 + 1.25¢ is a good model for the relation between
the variables. Solve the following equations algebraically. Explain
what the results tell you about the relation between city and highway
‘mileage. Be prepared to explain the reasoning you used to find each
solution.

a. 35=14+ 125
b. 10= 1.4 + 1.25¢
1.4 + (1.25)(20)
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‘The Yogurt Shop makes several different flavors of frozen yogurt. Each
new batch is 650 ounces, and a typical cone uses § ounces. As sales
take place, the amount A of each flavor remaining from a fresh batch
is a function of the number n of cones of that flavor that have been
sold. The function relating amount of yogurt left to number of cones
sold is A = 650 — 8n.

a. Solve each equation related to sales of chocolate-vanilla swirl
yogurt. Show your work. Explain what your solution tells about
sales of chocolate-vanilla yogurt and the amount left.

570 = 650 — 81

ii. 250 = 650 — 8n

iii. A =650 — 8(42)

b. Use the function A = 650 — 8n to write and solve equations to
answer the following questions.

i. How many cones have been sold if 390 ounces remain?
ii. How much yogurt will be left when 75 cones have been sold?

fii. 1f the machine shows 370 ounces left, how many cones have
Dbeen sold?
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Recall the formula for the circumference of a circle:
C=md
Write equations or inequalities that can be used to answer the
following questions. Then find answers to the questions.
a. A 16-nch pizza has a diameter of 16 inches. What is the
circumference of a 16-inch pizza?

b. The average arm span of a group of 10 first graders is 47 inches.
1 they hold hands and stretch to form a circle, what will be the
approximate diameter of the circle?

<. If you have 50 inches of wire, what are the diameters of the circles
you could make with all or part of the wire?




